Classroom Voting Questions: Algebra
Section 5.5: Multiplying Polynomials

1. Which are valid representations of the area of the outer square?

(a) (a-+b)
(b) a* + b

(c) a*+ 2ab+ b?

(d) Both (a) and (b)
(e) Both (a) and (c)

(f) All of (a), (b), and (c)

2. Using the distributive law, simplify: z(4z — 3) + 6(2? + 5x) =

1022 + 27z

7r? + 30z

372

1022 + 30x — 3

(a
(b
(c

)
)
)
(d)

3. Simplify by removing parentheses: 5z — 2z[3 + 2(z — 7)] =

(a) 1522 — 105z



(b) 62% — 33z
(c) —4z? +27x
(d) —4a? — 17z

. Find the product: 3z%(5z® — 11z* + 4z — 7)

)
b) 1525 — 33z* — 922

(c) 152° — 33z* 4+ 1227 — 2122
(d) 152° — 332* 4+ 122% — 2122

(a) 152°® — 332" + 1222 — 2122
(

. Find the product: (8n? +9n —1) - 5n =

(a) 40n? 4+ 45n — 1
(b) 40n® + 45n* — 5n
(c) 40n* + 45n — 5n
(d) 40n® +9n —1

. Simplify completely: (3z% — 2% + 7)(—92% + 1)

a) 3zt — 224+ 74922 -1

—~~

)
b) —272°% + 122" — 6422 + 7)
(c) —272% + 122* — 64a% + 7
(d) 3z* —10z* +8

. Find the product and simplify: (2 + 5)(3z + 2)

(a) 622 + 10

(b) 622 + 19z + 10
(¢) 622+ 17z + 10
(d) 62*+ 5z + 10

. Multiply and simplify: (7z + 2)(2? + 8z — 3)

(a) 72+ 222 + 372 — 6
(b) 72+ 58z% + 8z — 3
(c) Tz® + 58z* — 5z — 6
(d) 723 +22% + 162 — 6



